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Voice over Internet Protocol
A set of rules that enable people to use the Internet to make telephone calls/talk each other
Sends voice data in packets using IP

Two from:
Microphone
Speakers/headphones
Headset
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Three from:
If a change is made in the manufacturing process the robot needs to be re-programmed.
If a robot makes a mistake it will continue to make the same mistake.
Expensive to set up/maintain
Robots are not capable of performing tasks autonomously without guidance from
humans/they cannot think for themselves.
If they break down then they are difficult/impossible to repair.
[bookmark: _GoBack]If the robot breaks down the whole process stops.
The abilities of robots are suitable only for simple activities in which no major difficulties are
met.
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Any three from:

- Cheaper than building the real thing

- Quicker to see results rather than building it

~  Safer than building the real thing

—  Easier to change variables in the model/can use what ifs

Any four from:

—  The sensors are out in the bay therefore there is a faster response to floods
- Safer as flood watchers are not put in danger from rising waters

~  Data collected is more accurate

—  The data readings can be taken more frequently

—  Data collection can be continuous

—~  The town's people can be alerted faster of the danger

~  Predictions can be made from the data easily
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Video camera to inspect the finished product
Light sensors used to detect position of the car
Pressure sensor to make sure the car part is gripped correctly

Three from:

Running costs are cheaper than paying humans a wage.
Robots can operate continuously.

Cars are built to a more consistent standard.

Robots are more accurate.

Can be used in hazardous conditions.

Greater productivity
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